BSEH Practice Paper
Subject: Economics, Set - A Class:12th

General Instructions.-

i)  Questions paper contains two section.
Section - A- Micro Economics
Section - B- Macro Economics

ii)  This paper contains 20 multiple choice questions type questions of 1 mark each.

iii) This paper contains 4 short answer questions type questions of 3 marks each to be
answered in 60 to 80 words.

iv) This paper contains 6 short answer questions type questions of 4 marks each to be
answered in 80 to 100 words.

v) This paper contains 4 long answer questions type questions of 6 marks each to be
answered in 100 to 150 words.
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Section- A (Micro Economics)

1. The Subject matter of “What should be”

a) Real Science b) Normative Science
c) Natural Science d) None of These
"FT BT AMRY” &1 999 axg g
a) grldd I b) eI ® fasme
c) Wpfad fa=m= d SIH ¥ PIg B
2. The slope of the production possibility curve is

a) Convex to the point of origin b) A straight line
c) Concave to the point of origin  d) None of these

IATG FHTIAT Tsh BT ST S\ICH %—
a) Ho fog ‘0@ AR IR b) HqA &g F IR AR
c) UP A1y A d sTH | PIg 7Ll

3. Marginal utility may be:-
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a) Positive b) Negative

c) Zero d) All of the above
Hid SAIfAr g Al g
a) g HD b) RUTH®D
c) I d SWRIad
4. Fixed cost is
a) Electricity Bill b) Expenditure on raw material
c) Daily labour wages d) Interest on fixed capital
df ATTA HII—T B
a)  faorell &7 A b) o A R T
c) <fF® | B Ao d) g Yoll R e
5. Choose the correct equation
a) AR b) MR
TR= — AR= —
Q Q
c) ATR d) AR=TRxQ
MR= ——
AQ
HET FHIDROT FfTY
a) AR b) MR
TR= — AR= —
Q Q
c) ATR d AR=TRxQ
MR= ——
AQ

Fill in the blanks with appropriate words.

R i o7 Sfaa weat & 9Rv |

6. “Principles of Economics” was written by (Robins/ Marshall)
“Principles of Economics” -IH® Y¥ddh ... ISR SEC] TI?; |
NIERVAINE)

7. An indeifference map is a group that represents indifference curves
(one/more than one)
TJeRIdl AT Th UTH & S dJeIdT dh /dhl bl
gfafiSea ®Rar g | (Tdh /Th A 37eD)

8. Under perfect competition (AR > MR/ AR=MR)
oo gRERET B et Gid ama > W

3 /3 3T =4I 371)
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10.

11.

In the following question, two statements are stated as Ascertain (A) &
Reason (R). Choose the correct alternative among those given below:
Alternatives:-

a) Both Assertain (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertain (A)

b) Both Assertain (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertain (A).

c) Assertain (A) is true but Reason (R) is false.

d) Assertain (A) is false but Reason (R) is true.

frfaRad o #, &1 HUEl &f IW@eE  (A) 3R SR R) & wU H
AT MY 2 | A Ay Y fadedl § ¥ 98l [Adhew g

famea—

A) BT (A) R HRU (R) SFI A & 3R HROT (R) <1@T (A) BT
e WA ©

B) MW@ (A) 3R HRUT (R) Gl A & AR BRI (R) T@T (A) AT
B! EIHIT T8 2 |

C) P (A) ¥ & oifdhs BRI (R) AT & |

D) 3IHHAT (A) Teld & olfdhd BRI (R) I T |

Assertain (A) : TP is constant when MP is zero.

Reason (R): MP measures the change in TP.
IMABAT (A) : Bl ScTa ReR & 5 A IcdTa ¥ T |
HROT (R) : AT IHTEH, ol ScaTed H IR &I A9 2 |

Assertain (A) : Negative MR is possible only when price is declining.

Reason (R): Under perfect competition, AR=MP and both are constant.

AP (A) © FUMHS A M T F9F T 1d HFd R 2T
8l |

PRUT (R) : gUT URRIRNar @ ofavd, 3id 3 = HHid 3 3R
T ReR B |

Draw a diagram that clearly shows the constant returns to scale. ~ OR

Explain the concept of production of function?
Uh @I g8V fOaH UM & 9919 Ufahd I 87| 37erdT
I Bl Dl IR Bl GRIT DHIToTT |
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12.

13.

14.

15.

16.

17.

18.

Explain the meaning of non-price competition with examples.
IR dmd gfcrafrar & sl IR Afgd e & |

What is price elasticity of demand? Explain any three factors affecting it?
OR

What is meant by demand? Mention the three factors which influence the
demand for a commodity?

AT & ST B g fbd ded 87 39 J9Ifad B arel fba)l dF
] DT ART B? T

ART BT AT 3 57 IR DI ART BT YAIAT B dTel A ded DI
q g?

Explain the role of a firm under perfect competition?

quT UIRITRIT & 3fATd Ueh This ehl AT i RAT DHIFSTY?

What is meant by economic problem? Why does it arise?

i THRIT A AT AU B IE R IU Bl 87

What is meant by production possibility curve? lllustrate with the help of a
table and diagram. OR

IS IYTaAT dh RIT o7 Udh dlfoldl a2l 9 gRT W & |
/A

Explain the characteristic of indifference curves.
deerdl Ihi &I fAaRIvartl & quid Bty |

What are the three stage of production? Explain with diagram? OR

JAES HI 9 IERMW HF W 87 foF dafed arer g |
3rerar

Distinguish between extension of supply and increase in supply with the help
of diagrams.

Y @) e 9 R ¥ fARAR qon g ¥ afy ¥ eFR 9y |

Section- B (Macro Economics)

Macroeconomics studies:-
a) of Whole economy b) of anindustry
c) ofafirm d) None of these

Fafe—31eleRS 31ega_ Bdl &
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19.

20.

21.

22.

23.

a) ol SrefeaRel B b) TH IERT AT

c) TP BH Pl d $H | BIg AL
Who issues one rupees note in India?
a) RB.L b) Govt. of India
c) Commercial Bank d) Haryana Govt.
IRA H TH ST &I Alc DI ORI Al 27
a) WRA™ R4 d@ b) YRA WRBR
c) WAMURG §b d) BRI WRPR
Marginal propensity of consume is equal to:-
a) AY b) AC
AC AY
c) C d v
Y C
AT SUERT Tafd (MPC) aRTER &
a) AY b)  AC
AC AY
) C d vy
Y C
Which of the following is an example of direct tax?
a) Import-export tax b) Production Tax
c) Sales Tax d) Surcharge on income tax
frferRad § & UUe] B BT ISTERTT DIF—3T &—
a)  ATA—IId B b) IAET BN
c) fashr B d) PR W AT

What is the relationship between demand for foreign currency and exchange
rate.

a) Opposite b) Direct

c) Norelation d) All of the above

faaelt gar o1 @i Jer Aty <) | 91 |y 9 S 8 e
a)  famdia b)  gcEr
c) BIg Y 7Ll d) IR FH

Commercial banks contribute to the supply of money by way of
(loans in cash/ loans in demand deposit)

qIRRIh deh H&T B TGRS H ANTETT BRI T oo GRE
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24.

25.

26.

27.

28.

29.

30.

T /T | ST 00

Domestic income = National income (Net exports/ Net factor
income from abroad)

Eﬁﬂ 3T =?11§T€[ 151 B2 R (?1?8’ IEIZIi(‘I/ faaen < Rlg AT
)

receipt (Revenue/Capital)

Wzﬁaﬂ?ﬁw .............. W%|(W/ﬁﬁ)

Assertation (A) : Transfer income are not included in the estimate of national
income.

Reason (R) :- Transfer incomes are not earned as rewards for rendering factor
services.

ANMABUT (A) : BRI 3T DI AT M & el H AMHA el

fopar SiraT 2|

BHROT (R) : RATCAROT AT Bl FEF HaATY UG A & [l REPR B
®U ¥ AR T&T DI ST |

Assertation (A) : Notes and coins are backed with authority of the government.

Reason (R):- Notes and coins are legal tenders.

AfFEHeE (A) @ Ale R Riad IRER & JIBR J Fafd &+ T |
HRUT (R) : AlC AR g I &1 T

What is meant by the problem of double counting? How can it be avoided?
OR

QIENN TUET DI FHRT A RT AMAYRT 2?2 399 D 91 S Ahdl ©
What do you meant by Open market operations?

el IR &1 fharg’ & @ aifiurg 82

What do you meant by “Say” law of market?

W B IOR D 9 R i 87

What is meant by balance of payments? Name its components? OR

YA AN ¥ 39 T FAS &7 59D A4l & 1 fod@l? a7

What is excess demand? How can it be control? Write any two solution.
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31.

32.

33.

34.

Ifr 757 & w1 U 8° 39 fod yer fafag fear siar 27 @i
31 U 9Ty’

What do you meant by Bank Rate?

36 T I T JAUY 27

Explain the difference between Stock and Flow?

Tlp TUT JdTE H 3faX T hy?

Explain circular of income in a two sector economy with diagram? OR

gl &3l drell srefaRe #§ I & TP Udlg b IRy Ry afgd

HASSY?  3fefdT
Calculate national income based on the following data:-
ltem (Crore)

i) Disposable income 9000
ii) Corporation Tax 800
iii) Net factor income from abroad (-) 400
iv) Undistributed profit 150

v) Personal direct tax 100

vi) Transfer payment

W?memaﬁmﬁ?

e CaS)
i) TS 3 9000
i) T R 800
iii) fI9 A g BRD A1 (~)400
iv) 3ffadiRa =4 150

v) RBITT Y&l R 100
vi) RITHTAROT I 50

Explain income method of measuring the national income? Or
T Y D TN BRI Bl I AT B IRaar HIfSiw | a7

Define money? What are its main function?

T B URETIT SITSY? §9d &I BRI AT &7
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